WAk Lo WA SV Y §

=ETZ

@IUH(X
WA T F HX ¢
a8 E ¥ ;ng ﬂh4bz* L A ;i é? — g D di | EpNEE| HE
(mm) (M,R) (mm) (mm) (mm) (mm) (mm) (mm) | (mm?) (9
EC4-M5 4 M5X0.8 224 4.0 13 10.0X11.0 9.6 2.0 3.0 6.0
EC4-PT1/8 4 R1/8 19.4 8.0 13 10.0X11.0 9.6 25 4.0 7.0
EC4-PT1/4 4 R1/4 224 11.0 13 14.0X15.4 9.6 25 4.0 17.0
EC6-M5 6 M5X0.8 24.2 4.0 15 12.0X13.0 1.7 2.0 3.5 9.0
EC6-M6 6 M6X1.0 25.2 5.0 15 12.0X13.0 1.7 3.0 4.5 10.0
EC6-PT1/8 6 R1/8 21.2 8.0 15 12.0X13.0 1.7 4.0 10.5 9.0
EC6-PT1/4 6 R1/4 24.2 11.0 15 14.0X15.4 1.7 4.0 10.5 18.0
EC6-PT3/8 6 R3/8 25.2 12.0 15 17.0X18.5 1.7 4.0 10.5 32.0
EC8-PT1/8 8 R1/8 26.2 8.0 16 14.0X15.4 13.7 5.0 20.0 14.0
EC8-PT1/4 8 R1/4 25.2 11.0 16 14.0X15.4 13.7 6.0 25.0 16.0
EC8-PT3/8 8 R3/8 26.2 12.0 16 17.0X18.5 13.7 6.0 26.0 29.0
EC10-PT1/8 10 R1/8 30.1 8.0 19 17.0X18.5 16.7 5.0 25.0 24.0
EC10-PT1/4 10 R1/4 28.1 11.0 19 17.0X18.5 16.7 8.0 40.0 21.0
EC10-PT3/8 10 R3/8 29.1 12.0 19 17.0X18.5 16.7 8.0 40.0 29.0
EC10-PT1/2 10 R1/2 32.1 15.0 19 22.0X24.5 16.7 8.0 40.0 61.0
EC12-PT1/4 12 R1/4 34.0 11.0 20 19.0X21.0 18.6 8.0 45.0 32.0
EC12-PT3/8 12 R3/8 30.0 12.0 20 19.0X21.0 18.6 10.0 50.0 31.0
EC12-PT1/2 12 R1/2 33.0 15.0 20 22.0X24.5 18.6 10.0 50.0 58.0
EC16-PT3/8 16 R3/8 41.6 12.0 27 24,0X26.5 24.5 10.0 77.0 68.0
EC16-PT1/2 16 R1/2 43.6 15.0 27 24.0X26.5 24.5 12.0 110.5 83.0
MRS
Q1 FHAX
*samj T 34 HX ¢ h
Ml T 8 & 757 Sk | * A | ies cml | cEE | D | o FUEER) HE
(inch) (M,R) (mm) (mm) (mm) (mm) (mm) | (mm) | (mm) | (mm?) (9)
EC1/4-M5 1/4 M5X0.8 244 4.0 15 12.0X13.0 4.0 12.0 2.0 3.5 9.0
= Z) EC1/4-PT1/8 1/4 R1/8 21.4 8.0 15 12.0X13.0 4.0 12.0 4.0 12.0 9.0
o] — EC1/4-PT1/4 1/4 R1/4 244 11.0 15 14.0X15.4 4.0 12.0 4.0 12.0 18.0
Eg. g A EC1/4-PT3/8 1/4 R3/8 25.4 12.0 15 17.0X18.5 4.0 12.0 4.0 12.0 32.0
E» . = EC5/16-PT1/8 5/16 R1/8 25.9 8.0 16 14.0X15.4 5.0 13.9 5.0 20.0 14.0
L-E’ M EC5/16-PT1/4 5/16 R1/4 24.9 11.0 16 14.0X15.4 6.0 13.9 6.0 25.0 16.0
= EC5/16-PT3/8 5/16 R3/8 25.9 12.0 16 17.0X18.5 6.0 13.9 6.0 26.0 29.0
EC3/8-PT1/8 3/8 R1/8 29.7 8.0 19 17.0X18.5 — 16.9 5.0 20.0 24.0
EC3/8-PT1/4 3/8 R1/4 27.7 11.0 19 17.0X18.5 — 16.9 8.0 35.0 21.0
EC3/8-PT3/8 3/8 R3/8 28.7 12.0 19 17.0X18.5 — 16.9 8.0 35.0 29.0
EC3/8-PT1/2 3/8 R1/2 31.7 15.0 19 22.0X24.5 — 16.9 8.0 35.0 61.0
EC1/2-PT1/4 1/2 R1/4 34.0 11.0 21 19.0X21.0 — 19.0 8.0 48.0 32.0
EC1/2-PT3/8 1/2 R3/8 30.0 12.0 21 19.0X21.0 — 19.0 10.0 66.5 31.0
EC1/2-PT1/2 1/2 R1/2 33.0 15.0 21 22.0X24.5 — 19.0 10.0 66.5 58.0

B 12 FHA D ZMEBEL TV EE A

| ARG RoS

@3IVH(X

A T F h
8 & 9—;{4—;7’ #h{b’x L A ;iég — g D di HHUERE | HE
(mm) (M;R) (mm) (mm) (mm) (mm) (mm) (mm) (mm?) ()
EC4-M5A 4 M5X0.8 19.4 4.0 13 2.0 9.8 2.0 - 5.0
EC4-PT1/8A 4 R1/8 19.4 8.0 13 2.5 9.8 25 = 7.0
EC6-M5A 6 M5X0.8 24.2 4.0 15 4.0 11.8 2.0 - 18.0
EC6-PT1/8A 6 R1/8 21.2 8.0 15 4.0 11.8 4.0 = 8.0
EC6-PT1/4A 6 R1/4 24.2 11.0 15 4.0 13.8 4.0 - 17.0
EC8-PT1/8A 8 R1/8 26.2 8.0 16 5.0 13.8 5.0 = 12.0
EC8-PT1/4A 8 R1/4 25.2 11.0 16 5.0 13.8 5.0 - 15.0
T F h EC10-PT1/4A 10 R1/4 28.1 11.0 19 6.0 16.8 6.0 = 19.0
L EC10-PT3/8A 10 R3/8 29.1 12.0 19 6.0 16.8 6.0 - 28.0

52



